I & R SE R A X

O: 4% L
O:f=&ith
CEEEIL. AERRENIEES

(641651 5,



HMAERBLEERAERE

N | & AEre R (mg /L) C O D(mg/L)
CoD | T-N [ T—P 5 10 15 20 25 30

1 |[FRA L 25 0.40 0016 [l

2 |BESL 4.1 0.66 0021 [l

3 |KWE L 40 055 | 0017 [

4 | RINF L 4.6 126 | 0017 [

5 |ATLE L 49 1.0 0033 [

6 |FIAN L 4.1 092 | 0025 [I

7 |RigE L 5.1 0.71 0032 [

8 |HENZ L 46 038 | 0020 [

9 |BBEYL 40 038 | 0020 [H

10 | BARY L 125 18 0075 (NN

1 |FemRn| 48 1.0 ooss [

12 |FFspifipse | 72 13 | oot |[HEEM

13 |FIEH L 23 082 | 0019 [l

14 |‘HH L 24 0.99 0014 [l

15 [BRIIA L 38 058 | o042 [

16 |4 L 48 034 | 0030 [

17 |t L 35 023 | o019 [

18 |[HAS L 3.9 0.26 0019 [

19 |75t 44 053 0020 [l

20 [INER3h 25 037 | oooo [HI

21 [R5l 37 036 | 0013 [H

22 |[RREE it 5.1 - - |

23 wnEnEm| 49 032 | ooie [H

24 |EATit 6.6 - - |

25 [hEMh 15 - - I

26 |F it 9.2 060 | 0035 [ININ

27 [JIIRgit 25 063 | o005 [HI

28 |t 17 18 o16 [N

29 [A%ith 22 15 o1 IR

30 [mmLmeEum| 15 16 0.2 [N

31 |Fsht 31 2.7 02 [N

32 |EEEt 12 1.0 0078 [N

33 |[gimEnm)| 64 052 | o028 [HIEN

34 A 4.1 0.24 0.006 I

35 [Siste 63 052 | 0027 [HEI

36 (ARt 74 097 | o022 [N

37 |#rpaith 68 072 | o020 [HIEN

38 |t 14 1.3 020 (NN

39 A=t | 97 093 | ooss [N

40 |fEEFt 12 12 0.2 [N

41 |Fith 30 3.2 031 [IN I S |

42 | RRZAEH 55 035 | 0021 [

43 |t (TEHO=HEAFRE)

44 |#Eith 8.1 0.53 0027 |

45 |k S 5.0 0.49 0006 [




N | & AEFER (mg L) C O D(mg/L)
COD [ T-N [ T=P | 5 10 15 20 25 30 35
46 |5t 32 33 026 | N D D B
47 [fRt 6.8 0.51 0020 [N
48 [FLBHIE 22 20 037 [N
49 | Lt 6.8 050 | 0034 [N
50 |ttt 22 - - 7 ]
51 [t 13 12 o1 [N
52 |EiEFit 15 22 042 (NN
53 |t 26 28 034 [N
54 [ Tith 72 067 | oos0 [HEN
55 =it 15 2.1 017 [IEEI
56 |EEit 8.9 049 | oo2s (NI
57 |BsEt 17 12 0000 [N
58 |E st 95 088 | 0073 (NI
59 |3/t 73 1.5 o18 [N
60 |8t 16 16 085 (NN
61 [gm@mssm| 20 19 o15 [N
62 (—DAH 15 17 016 [N
63 [{Zit 11 13 017 |[IEIEN
64 |l 30 065 | 0007 [
65 |2t 6.7 069 | oos0 [HIEN
66 |= ARt 47 0.41 0015 [
67 [zt 72 052 | ootz [EEN
68 | 1Lt 58 022 | oois [N




